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Section : General Knowledge

Ans

Q.1 FHgd HIR H ugeh w#fSier o Fmfor g fovar mam ami

X 1. g e
o 2. DA Qach
< 3. SIAE A fRetsit
X 4 segamar

Question ID : 2752289822
Status : Answered
Chosen Option : 1

Ans

Q.2 wAwT_____dregl

o 1.99
X 2. 3eg
X 3.9
X4

Question ID : 2752289819
Status : Not Answered
Chosen Option : --

Ans

Q.3 T 2021 & Ay ¢ A0AAT & Wiz d S o 5t S Gl oft?

X 1. 9Ra aur st
< 2. sifefor qur eies
o 3. ¥RA qT ehidie
X 4. siftefor qur gete

Question ID : 2752289830
Status : Answered
Chosen Option: 3




Q.4 FEfafad d @ w9 9 g sRdlens & gd -k sfofa ude grr ford € 82
Ans X 1.7 3RISS §f3am: 2020- TANSE URRe A

< 2. Thi¥ hive g TauH e

X 3. diehere oyl

o 4. SiargTre: T 7 3R dm

Question ID : 2752289825
Status : Marked For Review
Chosen Option : 1

Q.5 UQ.3IR. EHM aIve sy idar ddusR e §l g fra s @ g3 82
Ans X 1.4EH

X 2. @R
o 3. T
X 4w

Question ID : 2752289826
Status : Answered
Chosen Option: 3

=

Q.6 gdiarediefimadad_____ frf. g
Ans X 1.1400

% 2.1200
& 3. 600
X 4.200

Question ID : 2752289821

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 Which of the following is correct?
Ans X 1. Net Investment = Gross Investment — Interest

" 2. Net Investment= Gross Investment — Depreciation
25 3. Net Investment = Gross Investment + Interest

#< 4. Net Investment = Gross Investment + Depreciation

Question ID : 2752289820

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.8 FfieamAvRadF 7z Fafaor sy & w0 & g ugvur faran 81
Ans o 1243
X 2.258
X 3.213
X 4,228

Question ID : 2752289827

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.9 ¥ & TS AR A e Ug UR &) ASTge TUE Yehul T udT T 82
Ans X 1.3¢R

X 2. 7w

o 3. "

X 4

Question ID : 2752289824
Status : Answered
Chosen Option: 3

Q.10 WRd & uuH g v o= 42
Ans o 1. ERAE . ST

X 2.7 F WHR

X 3. AgEe HETSTl

< 4.7, 3R, a1

Question ID : 2752289823
Status : Answered
Chosen Option : 1

===

Q.11 =1 2021 #, Fdka Rerd gfors o (. omr.dt.vw.) & g wgrRReres & & F fFd fAgs frar
g ?
Ans X 1. TRy
X 2. sruT AR g
2< 3. s AT
o 4. ol e

Question ID : 2752289828
Status : Answered
Chosen Option : 2




Q.12 uTta WfuT &1 125 af Heitee fora adf & gam ar
Ans X 1.2017

o 2.2019
X 3.2016
X 4.2015

Question ID : 2752289829
Status : Marked For Review
Chosen Option : 1

Section : Numerical ability

Q.1 A & e arferesr ot fafS= axgsit A, B, C, D auT E & siftha gear oiik farshY gea il g2t 81

dfra | T

2| mw | mew

A 625 500

B 750 650

a 450 350

D 385 275

E 425 350
kI —TaFg

@%{ kS E@waﬂ

wichd T

PrefifRe & @ i e s o ad e &2
Ans X 1.C>D>A>E>B
& 2.D>C>A>E>B
&K 3.E>A>C>D>B
X 4 A>C>D>E>B

Question ID : 2752289840
Status : Answered
Chosen Option: 2




Q.2 =3 fean mam gus A= utw fAf%= fayfaenem™t A, B, C, D aur E d e el sk afger fAersl
&Y T & gufar g1

i 7500
6500 6000
5000
4500
bsoo 2700 0
1800
I T T T T
A B e D E
O g% foarr @ Afger et

fRrsfremera ¢ & g el HY T Ry D # fAera (geul sk Megemei @ M)
Y et Tt ot fohereT ufaera 82

Ans X 1.84ufasra
X 2. 74 ufaza
X 3. 54 ufaRa
« 4. 64 Ufad

Question ID : 2752289842
Status : Answered
Chosen Option : 4

Q.3 T AfA TR 6 Il ST ATYRUT TST 29250 TUA &1 Uget 2 auf & forg suret i 27 7 ufaera ufded
2 9T 3T 4 auf & fAg 16 ufasa ufdad @1 afy s 82

Ans X 1.36600 T03
7< 2.35400 3ud
< 3.38300 3ud
" 4.37500 T0

Question ID : 2752289836

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Ans

300

275

190

120

60 60

01 02 03 04 05 06 07
+1T<-H:na°r —w HAfgem I

ISt Y per ST = g Tt Y S + Afgen afal H S

Q.4 = Ram o ¥an A v g A Rt @ Avs i amn ax= aret g gl sk afger arfal &
T ot gufar gl

04 371X 05 Tt AT 3=t aTet Y= AT i et AT 07 hl ATAT het a1t G&W gl Y d=ar

4 fora= ufaera sifdes &2
< 1.32.41 ufasa

X 2.25.5ufdsra
7< 3.26.6 ufasra
o 4.29.41 gfad

Question ID : 2752289841
Status : Answered
Chosen Option : 2

Q.5

Ans

Question ID : 2752289831
Status : Answered
Chosen Option : 1

Ans

Qeh YehvUs Uget g1 ATal & dft hr gf @ ghfi?
X 1.35Mx

o 2. 25

< 3,151

X 4.10MR

Q.6 & ATa ek gER <t aXh shAel: 36 foh. Y. /der aur 54 o+t /der Y i @ amn v @ g1 eawm |

Question ID : 2752289837
Status : Answered
Chosen Option : 4




Q.7 af g gHagds & it &Y evas 12 9.4, aur 16 /.51, 8, at swaga{s o ularg Fan §?
Ans X 1.153

< 2,103
o 3.40 9.7
< 4.30 9.,

Question ID : 2752289839
Status : Answered
Chosen Option : 2

Q.8 A 7225 TUA H §} ThetH WIS | IAA Tk ot 30 uferzra Y g1 ur a1 gER whl 40 ufdra &
TN R 4T f Wk Sherd ohit THTE g UR &1 7T AT, A1 g1 R 39 T8 et a1 oha I

FE?
Ans o 1.150 308

5 2.160 30
25 3.180 7w
54,120 30

Question ID : 2752289834
Status : Answered
Chosen Option: 3

Q.9 #E & gea # 20 ufavra i gfF & FRoT IUIH ot @ua F 15 ufdera it @t = Ear @1 F

= # e ufasra @1 aRad= gom &2
Ans X 1.1.6 ufasrd
" 2. 6 Ufasd
< 3. Avfasa
75 4. g ufaza
Question ID : 2752289833
Status : Answered
Chosen Option : 4
=

Q.10 8400 FuZ =l P, Q T R &fta shwar: 2/3 : 3 : 1/3 o srgura | fawnfia favar war @1 R o1 fgw
FE?
Ans X 1.18000 30

" 2.700 30
< 3.1400 30
< 4.900 ¥ud

Question ID : 2752289835
Status : Answered
Chosen Option : 2




& forg 39 ufafeq fraa b &t e =nfge?
Ans X 1.2.59¢
o 2.10 %
X 312
X4

Q.11 5 =R ufafes &rf @ed gu &R gas qeaes @t 22 AT o gordt 81 st g &t 11 R d uet

Question ID : 2752289838
Status : Answered
Chosen Option : 1

arfeg?
Ans X 1.40ufdsra

< 2. 50 ufagra
< 3. 30 ufagra
o 4. 60 ufasrd

Q.12 Qe Udel T Sifchd e ha G a1 1= AT 81 20 ufara |1 e & fog, e ufasa @ gt

Question ID : 2752289832
Status : Answered
Chosen Option : 4

Section : General Aptitude or Reasoning

‘OPT’ I hiS AT &7
Ans o 1.90
X 2.72
< 3.102
X 4.75

Q.1 U fafde &is wmwr , ‘TO’ &kt ‘57’ for@r St &, ‘OUR’ <kt ‘81’ forar ST g1 39 ahis T &

Question ID : 2752289850
Status : Answered
Chosen Option : 1

_— =

Ans o 1. STAISH
< 2. UrT
P R
& 4. Gifsgm

Q.2 f=fafae usr A Ry 7y et d & favw aree &6t gfg)

Question ID : 2752289845
Status : Answered
Chosen Option : 2




Q.3 fA=fafaa el @t aegentar & o aret & & srgar ford|
1. TAIGO
2. TAILS
3. TALKY
4. TAMED
5. TACTS

Ans X 1.54123
X 2.51324
o 3.51234
X 4.51243

Question ID : 2752289843
Status : Answered
Chosen Option : 2

Q.4 f=fafle us d R g st A | Hafda e g gfg)
168:225::?

Ans X 1.237:169
& 2.145:100
< 3.179:256
< 4.216: 400

Question ID : 2752289855
Status : Answered
Chosen Option : 2

Q.5 fFAm=fafad v d Ry 7g Rt d & v Rg (7) & @ W o arelt siepfa w6t gl

il |

Ans

o 4.

X PR ) R e

Question ID : 2752289859
Status : Answered
Chosen Option: 1




Q.6 fA=fafae usr d, RA 7o faeredt & § deamsit & faww e = gfAw
Ans X 1.(225,369, 490)

X 2. (105, 249, 370)
& 3. (148,282, 413)
2 4. (95,239, 360)

Question ID : 2752289856
Status : Answered
Chosen Option: 3

Q.7 Uek fafie stz v &, ‘PAIRED’ &Y ‘WVIRZK' for@r SITdT &1 39 i€ v1uT & 'IMAGES'’ <Al his
FE?
Ans  # 1. HVTZNR

< 2. HVTYNR
< 3.HVTZMR
7< 4. HUTZNR

Question ID : 2752289848

Not Attempted and
Marked For Review

Chosen Option : --

Status :

S

Q.8 A Ry g ust & o wU 3R I d18 I HYA! WR e Fw e Ru g &1 fg o
HYH! hit TSt A, TG ITH T A9 a2t S fAzar gt et fFepd o oiiz e RrufRa w2 6
g g @A & s, g g sl & sy wR gfeea €1

<hY-:
L.aft A BEI
Il. 9t B, D &1

forsn:

LoD, Ag

Il. R oft A, DI 21
. =D, B &I

Ans X 1. %ad fIsny | eRoT sheal &
o 2. T ISR | T 111 STTERUT e &
< 3. Fhae AR ||| STgERT dhedl &
< 4. Tt e grqeRe i €

Question ID : 2752289853
Status : Answered
Chosen Option : 2




gl g ST Hehet &1
fAafafae d | fore gewi &) 741 o1 wmar 82

Ans & 1. M1, M3, W1, W3, W4
& 2. M1, M2, W1, W3, W5
5 3. M4, M5, W2, W4, W5
X 4. M4, M5, W1, W3, W4

Q.9 ufa g&w M1, M2, M3, M4 @t M5 auT ufe afgersit W1, W2, W3, W4 auT W5 & & &g gewl
&Y gk & A S @1 W2 aur W5 Ty 7 T8 g7 I IeRd €1 M1 aur W3 Ty 7 g9 s &1 W3
auT W4, M2 & 91 gl g ST Fehel &1 W1 2T M5 |10 H 181 T 11 Tehet &1 M3 a1 M4 sma F

Question ID : 2752289852
Status : Answered
Chosen Option : 1

Q.10 Fr=fafEa ust 7, 4@ g fAereul 7 @ Twreii & fAww wg &t gfgl
Ans o 1.(9,36,25)

2 2. (36, 49, 64)

< 3. (16, 25, 36)

< 4.(25, 36, 49)

Question ID : 2752289854
Status : Answered
Chosen Option : 1

‘PAD’ T hiS T 87
Ans X 1.24
X 2.28
o 3.21
X 4.34

Q.11 Uk fafre shts wrar &, ‘AT’ &l 21’ foraT STt &, ‘MAT <Rt ‘34’ forar Sirat @1 89 his v &

Question ID : 2752289847
Status : Answered
Chosen Option: 3

_— =

ehlg WTST ® ‘English batsmen are knows’ &1 Rl =T @2
Ans X 1.+%"@
K2 g
K3 M3
P A%

Q.12 U fafAe @i wrwn &, ‘Virat is good players’ &t ‘@ a # $' for@r s €, ‘good players are
batsmen’ @&l ‘+ # * @’ foiar ST 8, ‘Virat knows good English’ @t “* & % # forar siran g1 59

Question ID : 2752289849
Status : Answered
Chosen Option : 2




Q.13 F=fafEa usr # Ry g el § 9 ust e (?) & e wR o1 areft W= &t gfAgl

256|144 | 174

148 | 324 | 209

95 | 225| 64

3090|243 | ?
Ans X 1.307

X 2.291

& 3.319

X 4.297

Question ID : 2752289857
Status : Answered
Chosen Option : 2

Q.14 Qe srgepd fam man g, e @ ges ug e 81 R 1y el 7 @ 39 wea ug &l gfAw)
AVL, QZG, GDB, XHW, MLR

Ans X 1.GDB
< 2.MCR
X 3.QzG
o 4. XHW

Question ID : 2752289844
Status : Answered
Chosen Option : 3

Q.15 F=fafEa ust # Ry 7 Aol § 9 |@&6fa gt & gfhg)
farfercaer : 3reudTe o 3remTUeR : ?

Ans X 1.3TFRR
o 2. e
X 3. wH

X 4 g

Question ID : 2752289846
Status : Answered
Chosen Option : 2

_
Q.16 9rd &fws A, B, C, D, E, F T G Uk Ufth # IR il ok 7@ adh &4 & (St Al Y sfr spma &
&)1 B AT F & it & fi1 =af~s doa &1 F, B & arfi 31k doar &1 A a1 D & o= 7 & aafwh deat
21 E 9T G & i & Ueh aafwh daar1 21 F, G & rff ek daar 21 A sifan sk R =8 dadr 1
arff @ grff i ek P=faf@a § @ @l dt Ao ht eqawn ad 82

Ans ” 1.GFEACBD
2 2.GEFACBD
X 3.GFEABCD
2 4.GFEBACD

Question ID : 2752289851
Status : Answered
Chosen Option : 1




Q.17 fraft R, aa &?

a4
9
e 50
14 16 R
19

Ans o 1.17
X 2.9
< 3.50
X 4.8

Question ID : 2752289858
Status : Answered
Chosen Option : 1

Q.18 A & s anepfaal & @Y SFUR HRTS Tl AlgH Be a1 @iert & 1% g fhe IR sirepfa
Star et m?

I .m-Gm--- H H (D

Saeieaes

A Nesssasnsnanaians

P

Ans

1

D@
1)

x 2

2@
@Bl

DG |BGD
DERINGD

Question ID : 2752289860
Status : Marked For Review
Chosen Option : 4

Section : General Science




Q.1 Rust of wheat is causedby ______.
Ans 1. Fungi

#5 2. Protozoans
#< 3. Bacteria
< 4. Virus

Question ID : 2752289873
Status : Answered
Chosen Option : 1

Q.2 f=fafEa d @ w9 ai/d wuya adt /87
1. 3 <1 forewd oht e s 3T 81
II. &Rek a1 forew g ept &1t e AT 21

Ans X 1.%aa|
X 2. %ad I
X 3.1l =t
o A TEITE

Question ID : 2752289869
Status : Answered
Chosen Option : 3

Q.3 =@ & @ == 9y sy a8 8/8?
I. gl arg d 3o 7 Btz 3 R Rier : awgqd e & ot €
II. IR arg & IufRA 34Tg; T STFSHTFATES & 1Y ATAFHAT AT & TUT Tk 2 71 hY u=e ur
Eoik!

Ans o 1.1l G
Kooagtag
X 3. %Al
X 4. FHad

Question ID : 2752289871
Status : Answered
Chosen Option : 3

_— =

Q4 LeplrdgaaeHi hE@r gl gl
Ans X 1.2

o 2.8

X 3.4

X 4.16

Question ID : 2752289867
Status : Answered
Chosen Option : 2




Q.5 f=fafaad @ o a1 ge uig 78 &2
Ans X 1. afomm

X 2. sRfeaw
X 3. defmm
o 4. Rfe=

Question ID : 2752289870
Status : Answered
Chosen Option : 4

Q.6 fA=fafEa d @ a9 i eifiies w199 &Y gas fafa &2
. @=q
II. TRTITOT

Ans X 1.1qurllger
Koo agtaag
X 3. dad I
o 4. Faa |

Question ID : 2752289875
Status : Answered
Chosen Option : 2

Q.7 U I &ur #, o1 fig eFiad R glar & at Rmfaf@a d @ sl adr 2

1. ufafeier i vrepfer smomft aar Hef g @
II. ufafeer o1 gt fig & sTPR gl @
Ans X 1. %Fae |
o 2. | qr |l gt
Xog.agtiargi
X A Faall
Question ID : 2752289863
Satus: ot tempted and
Chosen Option : --
- =

Q.8 F=fafaa & @ &= @t uenrn & uhivfa @ g gar &2
Ans X 1. TS SITERIRT T AT Al

o 2. ARI o1 fenAfeAm
< 3. gl a1 gatd & a9 3
X 4 fsauama

Question ID : 2752289862
Status : Answered
Chosen Option : 2




Q.9 gewsiia & F=fafEa & @ == o gm gt &2
I. Refifrm - Sare

II. efe=fifergw - sicisien
Ans X 1.%ad I

o 2.TEIAE
X 3. launll gt
K 4. FRadl

Question ID : 2752289878
Status : Answered
Chosen Option : 3

Q.10 s & e A F=fof@a d d s arad 78 &2
Ans X 1.9 a¥g <t SMTpfa & uRacd= o1 TendT &
< 2. 9o faefier axg & e A oRkad= o= e &
o 3. TATH AREAF B
X 4. 9 Qe a¥g ! favm it srawen @ nfay @ wepar &

Question ID : 2752289865
Status : Answered
Chosen Option: 3

Q.11 F=faf@a # @ =i+ a1 3uurg 81
Ans o 1.GRH

X 2. grsgie

X 3. ffcrw

X 4. 3w

Question ID : 2752289868
Status : Answered
Chosen Option : 4

=

Q.12 F=fafE@a d @ w1+ 91 ge 5ig S9h 8?

1. AT
1. 9T

Ans X 1.%ad I
Koo agtagi
o 3.1 TuT Il gt
X 4. hadt |

Question ID : 2752289874

Not Attempted and
Marked For Review

Chosen Option : -

Status :




Q.13 F=fafE@a 7 9 & a1/ Fu= a8t 8/8?
I. 5 urg 51T & SRR v uTqg gregiaTss iR g1sgior A9 U= &ed &
Il. STHT=E: 31T ST & SifAfehar 18 &vat &

Ans X 1.%ad I
Ko2agtagi
o 3.1 qr Il gt
X 4 Fa |

Question ID : 2752289872
Status : Answered
Chosen Option : 3

Q.14 A wrugen PRaw ______ a1 Ao ff g siran @
Ans X 1. @R

X 2. gam
X 3.am
o 4.55@

Question ID : 2752289861
Status : Answered
Chosen Option : 4

Q.15 fAfafaa & @ <9 91 Hy= g 82
. @it givor & yafaror @ 9R srarTs e uerf g o &
I1. frowrait giwor # g Sfal gRT daR fhg sifee uaraf @ siafgor gt &

Ans o 1.l TanllaEr
Koo agtadi
X 3. &l
X 4 Fad|

Question ID : 2752289877
Status : Answered
Chosen Option : 1

Q.16 ______ & 3iidfieh AR IR 3Hieh Sfel 19 vaef gidt & g SR avgd &
Ans X 1.3%d

X 2. e

o 3. g

X 4 Teata

Question ID : 2752289876

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Q.17 REfaf@ad @ s arad 82
Ans X 1. gegam gedt iR 9 o @l o o f9= giar &)

2< 2. YR T UR g% SITE 9 8T g
2< 3. foneft a¥g T gemH, 98 9 § e gealt I8 Srue SR STeRfid et 31
o 4. Toft aeqy Rl Rl & I UR IATaA e ohT ST e & |

Question ID : 2752289864
Status : Answered
Chosen Option : 2

Q.18 Which of the following is correct about friction?
I. Rolling friction is smaller than the sliding friction
II. Sliding friction is smaller than static friction

Ans X 1. Neither I norll
& 2.Bothlandll
X 3.0nlyll
2 4.0nly|

Question ID : 2752289866
Status : Answered
Chosen Option : 2

Section : Domain Knowledge

Q.1 1 7=t 2016 o, T gy 3= 93 (sofoew aeemiics weie) & SoT (AAREE) A

o1

Ans - X 1. 2327
< 24327
¢ 3. 5327
X 4 3327

Question ID : 2752289890

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.2 Four words have been given, out of which three are alike in some manner and one is different. Select the one that is

different.

Ans  » 1. Mango
X 2. Eucalyptus

X 3. Rubber
X 4. Poplar

Question ID : 2752289922
Status : Answered
Chosen Option : 4




Q.3 = oeg Re o, BAd @ 99 & Bl 7 B 9w F maaer § o v e S e ¥ oswer
T F

Ans k1. 7@ (Finger millets)
X 2. F9TaAT (Fox tail millet)
« 3 e (Paddy)

X 4 SR (Sorghum)

Question ID : 2752289919
Status : Answered
Chosen Option : 2

Q4  Fuir e, 1956 % T&d & A0 N U7 TAA qTON FeAT ARAT FATGT AW TS Aoy
e faes (3Rees e FNER wHfee 3w 2o AfEes) (DFCCIL) i e &9 & 78 o2

Ans w1 30 3fergET 2006
X2 30 Sl 2006

X330 #AT= 2006
x 4. 30 ST 2006

Question ID : 2752289887
Status : Answered
Chosen Option : 1

Q.5  zfy wefr demst & Hew & 3% #7 gl fowr v N g a9 1 H W (3ee) Jer AT, a #Ey
B dwar - gehe

Ans 198980
< 2. 45677
X 3. 62867
x4 28789

Question ID : 2752289924

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Q6 TafafEg & @ S0, TEF & FTWa $ TEET w1 Hr gaEr B 85§

Ans X 1.
gHrEr Ao o & for gfafear 3t 3vg I & I69ET 39T FET

X 2.
TEH BT Talhar News == & e Tl Fr gamer FEr

¥ 3 39eeY 3cUel T AfeYdr F R H HIId FAT|
X4 FIEHT F WY T T ¥ FHAE FAT|

Question ID : 2752289931
Status : Answered
Chosen Option : 1

Q.7 Four words have been given, out of which three are alike in some manner and one is different. Select the one that is

different.
Ans 1. Physics
X 2. Social Science
< 3. Philosophy
X 4. Psychology
Question ID : 2752289926
Status : Answered
Chosen Option : 4
Q8 T W F A ¥ HET RErEEt & wEidey awr ¥ TSRO gaRT T T T

Ane X129 e
X2 31 @
X3 36 &
74 42 T

Question ID : 2752289883

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q9 gRraxb=40,bxc=72 axc=453c xd =254 § ar d F A= Far &7
Ans 1.6

X2 26

<39

w42

Question ID : 2752289925
Status : Answered
Chosen Option : 1




T wdeiEt wR | wsh wEept F sefade g =R
b

X2 iy ge-arg

X 3. SET gHTA

74 3H BT

Question ID : 2752289936
Status : Answered
Chosen Option : 4

Q1 pRer FHRET o1 SeaTaaT § @ FA-O7 GEET aay $F e g 87

Ans v . FTAl W B Tl Al oI Ao gir =l
X2
TaT FEH BT THE W AT A F [0 T Go¥ WA AT

x 3.
fFrafaT sove W AgAT # S F Fea @ o B AJE @R

X4 g8 W AT HAT FIF P 3HFUF STl Tl T

Question ID : 2752289937
Status : Answered
Chosen Option : 1

Q.12 =7 oz fRw v & o & S99 & R 7 e o Y mEea | s o fiee B S e E o saer
TIT F

Ans X'Iw
¢ 2. Idell
xa;_]u.—.,.]%
X4 g

Question ID : 2752289929
Status : Answered
Chosen Option : 1




O3 Rl FY uget A T Fa e A2

+ 2. The Reserve Bank of India
X 3. The State Bank of India
< 4 NABARD

Ans X1.1984
<2 1989
X 3. 1999
v 4 2002
Question ID : 2752289882
Status : Answered
Chosen Option: 1
Q.14 is a result of loyal customers who minimise the cost of running a business because the amount spent on
getting new customers is far more than retaining the present customers.
Ans 1. Reduced marketing cost
# 2. Attracting new customers
# 3. Time to respond to competitive threats
X 4. Trade leverage
Question ID : 2752289934
Status : Answered
Chosen Option: 1
Q15 The financial sector in India is regulated by:
Ans ¢ 1 The Union Bank of India

Question ID : 2752289912
Status : Answered
Chosen Option : 2

Ans

« 1. Provide discounts at customers’ request
X 2. Good appearance and behaviour
< 3. Be able to recognise customer needs

X 4. Identify customer expectations

Q.16 Customers expect almost all retailers to provide certain services. Which of the following is NOT one of the services?

Question ID : 2752289930
Status : Answered
Chosen Option : 1




V7 e sEAE F wEr F RT aRa R sEe & 9w & @ 9n

Ans

X 4 TR FAT H HIHoaod

¢ {TOTT 9T ATECHE Siaaer
X 2 Org 9T ATHCHG Tigeer
X3 TRl gor eI

Question ID : 2752289913
Status : Answered
Chosen Option : 4

Q.18 =7 oz 2w i ¥, o & S99 & R 7 el o Y mEEaT | e o e B S i € e

IS FI

X0 BReETSE

<2 Fiead
X3 s
& 4 JITATT

Question ID : 2752289923
Status : Answered
Chosen Option : 4

Q.19

Ans X1.1899
< 2.1904
« 31901
X 41906

—

Hﬂﬁiﬂiﬂ#aﬁéﬂmaﬁg‘aﬂm

Question ID : 2752289881
Status : Answered
Chosen Option : 2

Q20 fry ¢ Rreatew SFAITRT T78 (CLW) & w2 Reme o= F Bor o fFe v a7

Ans 1. 1960
x 21972
<3 1954
X 4. 1967

Question ID : 2752289902
Status : Answered
Chosen Option : 1




Q.21

Ans

i 3u=7 & arer FeAt & fhw @ # o B e

Ans

Privatisation implies

a government owned enterprise.

X 1. strengthening the management of

X 2. restricting private plavers from managing

X 3. restricting private players to take control of

+ 4. shedding of the ownership or management of

v g Ffa
X2 ad Fifa
X3 ey It
X4 Ot wfa
Question ID : 2752289910
Status : Answered
Chosen Option: 1
.22 :
Q22 11 7% F AT T F Rrega FEUT 9od Y FTET FE gET AT AR o
Ans X1.1927
x 21925
3 1931
x4 1929
Question ID : 2752289884
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.23 means industries that can produce machine tools that are, in turn. used for producing articles for current
consumption.
Ans X 1. Cottage goods industry
# 2. Natural goods industry
« 3. Capital goods industry
X 4. Trading goods industry
Question ID : 2752289903
. Not Attempted and
Status - Marked For Review
Chosen Option : --
_
Q.24

Question ID : 2752289914
Status : Answered
Chosen Option : 3
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Ans  X1. 30 km
<2 26 km
¥ 3 34 km
x4 23 km

Question ID : 2752289879
Status : Answered
Chosen Option: 3

Q.26 Select the option that is related to the third word in the same way as the second word is related to the first word.

Thorn : Rose :: Vine : ?

Ans 1. Berry
« 2. Grapes

X 3. Litchi
< 4 Mango

Question ID : 2752289928
Status : Answered
Chosen Option: 1

¥ tadTar F WHY 9F 9Ra & Fad Rregarga i+ 2

Ans 1. 388 rkm
#2300 rkm
73 343 rkm
x4 374 rkm

Question ID : 2752289901

Not Attempted and
Marked For Review

Chosen Option : -

Status :

S S

Q28 PofefEa & & 58 T5a% & Fgear i & &g o F 7 (9) [WE F IO+ E?

A X1 mem ¥ ary BT e (@ e R o)

x 2
MY & HFAR s7Tae SMar (§ HeTEd AT e g amed)

v g T
X4.mﬂ€r§a1”13

Question ID : 2752289899

Not Attempted and

Status : Marked For Review

Chosen Option :




Q.29 Select the option that is related to the third word in the same way as the second word is related to the first word.

Freeze : Cold :: Vapour: ?

Ans X1 Melt
X 2. Liquid
+ 3. Heat
X 4. Boil

Question ID : 2752289927
Status : Answered
Chosen Option : 4

30 7 RrereT T IO FT I R A F 3 e

97, 89, 83, ?
Ans ¢ 1. 67

X2 53
X3 41

4 79

Question ID : 2752289921
Status : Answered
Chosen Option : 4

O3 oy grq g=R AT # @ S E, A FHE Hed W T G B
Ans X1 feag Tl

x 2 arferefrer grefr

X3 gl

v 4 g

Question ID : 2752289911
Status : Answered
Chosen Option : 4




Q.32 1963-64 &, SR, (EMU) #1 Tgell a1 Fodhedl 819 & FBATeEE Sae A oF f&ar 7 oM

Ans 1. BG 25 kV AC
<2 BG 100 kV AC
X3 BG 50 kV AC
X4 BG 75 kV AC

Question ID : 2752289892

Not Attempted and
Marked For Review

Chosen Option : --

Status :

P eE # ¥ - aw = g a1 R

Ans x 1. %

v 72 e
X 3. HgHCEIG,
X+ TR

Question ID : 2752289886
Status : Answered
Chosen Option : 2

_

Q.34 & FIE, 9 FSAT B IR Ak § g A T AR et sPE Fegd v 39 gt A
o

Ans 1. 1985
X2 1983
< 31981
< 41987

Question ID : 2752289900
Status : Answered
Chosen Option : 1

—_— S

Q.35 Government, consumer groups, business press and financial analysts are part of:
Ans 1. influence markets
X 2. supplier markets

& 3. referral markets
< 4 customer markets

Question ID : 2752289933
Status : Answered
Chosen Option : 4




% g% 1952 & o o ST sfEaaa F 2

Ans o1 6

X2 4

X3 8

<410

Question ID : 2752289894
Status : Answered
Chosen Option : 1

Q.37 The of a country is derived from the different sectors of the economy, namely the agricultural sector, the

industrial sector and the service sector.

Ans X 1. Gross National Product
X 2. Net Domestic Product
3. Net National Product
+ 4 Gross Domestic Product

Question ID : 2752289907
Status : Answered
Chosen Option : 4

438 nferreTe-ate-TeRa T & fegd ¥ur fhw & oF fRar
Ans X1 2013-14

« 2 2015-16
<3 2014-15
<4 2012-13
Question ID : 2752289888
Status : Not Attempted and
" Marked For Review
Chosen Option : --
= _
Q.39 23 Fems 1993 Y, #NAT WA F A gans AR AN T F S F 3 gg TAA(ABB)
TEAENA, | F WY e W gEAeR

Ans ?(1- m
X2 HAeIels
=
X4.$-¢3ﬂ'

Question ID : 2752289889

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Q40 qger 8w ST HaY F-734 TGS HoT o & 3 s=mn aww e
Ans ¢, TeAT FraTET

X2 Heay AT

x 3. EII'ETH-TI'-'&QHHT

v 4 HSAT FHTHATT

Question ID : 2752289880
Status : Answered
Chosen Option : 1

Q41 = A e v €, oad ¥ a9 & 5O 7 5 g & 57T § 3t v B &1 o @ & s
=T HY
A . .
"X gfeRr e
v 2 FIER TooaHHE IS

X 3. SETETATT AgE®

x4 g HeY

Question ID : 2752289920
Status : Answered
Chosen Option : 2

2y @ifwr gEe (1S)) Y Turer Fraa # 6
e X Ty FfeRTER

v 2 qalg g FAgTIAEH

Xa @y < ey

X4 @ HT. TS

Question ID : 2752289906
Status : Answered
Chosen Option : 4




W R 3T amEw [T 3g BRE W e & =iew?

Ans

v | TEF F T TF Iaeier HEET SATTI

X2 FTs HA

X 3 fhr e F v sremedy Ry der e
X4 HepHAS 9o

Question ID : 2752289932
Status : Answered
Chosen Option: 1

Q44 JrE ¥t Regeen & R S wen 3 T Rt e & R & 7 o
Ans 1. 1987

x< 21984

<3.1989

x4 1991

Question ID : 2752289885
Status : Answered
Chosen Option: 1

** faeg @R WS (WTO) #r TuTae wa gg o

Ans x1.1997
v 2. 1995
<3.1993
X 41990

Question ID : 2752289916
Status : Answered
Chosen Option : 2

—

Q46 ozl REgdga sTAT & fEefaEr wffaw (V) H#R Fer & @ w5 e o9
Ane X1 3 weadr 1927

v 2 3 ®Edr 1925

X3 3 wLEdr 1919

X4 3 wEr 1923

Question ID : 2752289891

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q47 To increase the production of goods and services, the producers have to:
Ans 1. adopt new technology

X 2. study traditional means of production
# 3. rely on agriculture

# 4. increase the labour force

Question ID : 2752289908
Status : Answered
Chosen Option : 2

Q.48 = ARSI &F 32N (PSE) F 89 A9 ¥ A= AT ¥ TeARwT § ¥ #iF-w a1 59
H @ A4 ¥ 5% g PSE &1 wgwia & A 27

Ans X 1. AETTc
X2 e
K3 dJAdcA
¢ 4 geed
Question ID : 2752289915
Status : Answered
Chosen Option : 2
Q.49 gaTErr wA A, I FA/FT § T wAS & T F AgER e 3wt # seTes
T B
Ans 1. ST
X 2. 9T
X 3. HASA
« 4 HIP
Question ID : 2752289905
Status : Answered
Chosen Option: 2
- _

Q.50 s o faege afEmifh Tru= (3R W Ry HiE sofegee st S Fuer oy
1988 & Ty 7w & &1 7 @7

Ans . afiereTE

-t
X2.313|T|T-|'
X 3. TAEATH
¥ 4 HERTSE

Question ID : 2752289897
Status : Answered
Chosen Option : 1




Q5T Guwabhati is the headquarters of the:

Ans

« 1. North-East Frontier Railway
X 2. North-Western Railway

« 3. Northern Railway

X 4. North-Eastern Railway

Question ID : 2752289895
Status : Answered
Chosen Option : 4

4% 3w v (AC) Fw fw I o faRam T 9r?

Ans

X 1.1997
v 2. 1993
< 31984
X 41987

Question ID : 2752289893
Status : Answered
Chosen Option: 3

= =

S & mE Ao F =R ¥ FE-ar FEeT e s

Ans

a-dg-ko-t ?

XKii-j
xX2¢C-49g
3 f-1
X4e-m

Question ID : 2752289918
Status : Answered
Chosen Option : 3




Q.54 ZrgEr s F 1978 F 19 9RAT SRGET §UF (T 09 gw el wae) 9iEenT & v e
T T HT A7

K1 2166
X2 156 &3
v3 T 146 F3
X4%176 &3

Question ID : 2752289898

Not Attempted and
Marked For Review

Chosen Option : --

Status :

%5 The policy of ‘land to the tiller’ is based on the idea:

Ans 1. that cultivators will take more interest
& 2. that it will be beneficial to the state

X 3. of market based ownership

X 4. of community based ownership

Question ID : 2752289909
Status : Answered
Chosen Option : 3

E

Q.56 AT A0 & 3ETeT HeaTd FIA-AT HTTET?
12 378.4:8 7

s @15 :10

X2 7 :21

<36:8

x4 8 ;32

Question ID : 2752289917
Status : Answered
Chosen Option: 1

Q.57 If the actual experience of a customer with goods is more than the , the customer will be satisfied.
Ans

X 1. product value
&< 2. maximum value
ZA 3. minimum value

« 4. perceived value

Question ID : 2752289938
Status : Answered
Chosen Option : 4




Q.58 & s demEmr F, BY ST T AT §, FES 341 ITHIEFA SEGHT & SeAE [T
e, forerdr =T 2§

Ans @ “ﬂ

X 2. HIFETEIG
X 3. HATSEE

X4 TAfST 3YegaEan

Question ID : 2752289904

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.59 srdem & Od T I & 5 T B0 aw & Taear § 3R o e B oS B | 3mer
=TT HL|

ans 1. 1728
X2 512
x2.216
¥4 1100

Question ID : 2752289935
Status : Answered
Chosen Option : 3

U0 Ror-FeT R & o fRdew ¥
Ans 1.9

X2 4

X3 8

V4 B

Question ID : 2752289896
Status : Answered
Chosen Option : 2




